TAI LIEU ON TAP KY THI SASMO 2022

LOP 4 THOI GIAN: 90 PHUT

Section A (Correct answer = 2 marks; no answer = 0; incorrect answer = minus 1 mark)

Phin A (Tra 101 dang = 2; khong tra 16i = 0; tra loi sai = trir 1 diém)

1.

Find the missing term in the following sequence: 2, 5, 10, _, 26, 37
Tim 56 hang con thiéu trong day sé sau: 2, 5, 10, _, 26, 37
A) 13 B) 15 )17

D) 19 E) None of the above (Pdp $6 khdc)

If each A represents the same number and AxAxA =27, what is the value of A + A + A?

Chir cdi A dai dién cho mét so. Biét rang AxAxA =27. Hoi A + A + A ¢o gid trj bang bao

nhiéu?

A)3 B)6 )9 D) 12 E) 27

April 14, 2017 is Friday. Which day of the week is May 1, 20177

Ngay 14 thang 4 nam 2017 la ngay thir Sau. Hoi ngay 1 thang 5 nam 2017 la ngay thir

nré)*?
A) Saturday — Thir Bay B) Monday — Thir Hai
C) Tuesday — Thir Ba D) Wednesday — Thur Tie

E) None of the above (Ddp s6 khdc)
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4. A candy shop is doing a “Buy Two Get One Free” promotion. The selling price for each
candy is 50 cents. If Joshua spent $3.50 to buy candies, how many candies will he get?
Mot cira hang keo co chuwong trinh k!myé:u mai “Mua hai tang mot”. Gid cua mot chiée

keo la 50 xu (80.5). Néu Joshua trd $3.50 dé mua keo thi edu é::v € duwge bao nhiéu chiée

keo?
A)7 B)§ )9
D) 10 E) None of the above (Dap 50 khdc)

5.  The right figure is formed by identical squares with length of 4. | | |
What is the perimeter of the shape?
Hinh bén phai duoc tao thanh béi cdc hinh vuéng giong nhau cé E 3
canh bang 4. Hoi chu vi ctia hinh bang bao nhiéu? | | I
A) 28 B) 96 C) 108
D) 128 E) None of the above (Pdp s6 khdc)

6. Calculate

Hay tinh
B,
3 4 5 5 4 3
A) 30 B) 31 C) 32
D) 33 E) None of the above (Pdp 56 khdc)
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Mandy is playing with the 4 cards below. She wants to form different 4-digit numbers using
the 4 cards. If she wants the number “3” to be always in the tens place, then how many 4-
digit numbers can she form? (The number 1432 is one such example)

Mandy c¢6 4 tam bia dudéi day. C6 dy muén tao ra cac sé ¢é 4 chir s6 khdc nhau bing
cdch sir dung 4 tam bia. Néu cé dy muon chir 56 3 luén & hang chuc thi ¢é dy co thé tao

ra dwgc bao nhiéu sé ¢é 4 chit s6? (S6 1432 1d mét vi du nhie vay)

1114132

A) 6 B) 8 C) 12

D) 24 E) None of the above (Pdp sé khdc)

Toby wrote down numbers from 1 to 100 on the whiteboard. Which digit appeared the least

number of times?
Toby viét cac s6 tir 1 dén 100 Ién bang. Hoi trén bang chir s6 ndo xudt hién it nhat?

A)D B) 1 C)2 D)3 E)4

Figure ABCD is a square. Point E is the midpoint of AD and A B
point F is the midpoint of BC. If the area of the shaded region

is 10 cm?, what is the area of the square ABCD?

EFA e F
ABCD la hinh vuong. E la diém chinh giira ciia canh AD vi F N
la diém chinh gitra ca canh BC. Néu dién tich ciia mién té dam
la 10 cm?, thi dién tich hinh vuéng ABCD b&ng bao nhiéu? D C
A) 30 cm? B) 35 cm? C) 40 cm?
D) 45 cm? E) None of the above (BPdp 56 khac)
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10. [f the five-digit number 5435A is divisible by 9, what is the value of the digit A?

Néu s6 ¢6 5 chir s6 54354 chia hét cho 9, thi gid tri ciia chiv s6 A la bao nhiéu?
A)?2 B) 1 C)6

D)5 E) None of the above (Pap 50 khdc)

11. Christopher was born in 1946. His daughter Jaqueline was born in 1981. In what year was

Christopher exactly SIX times as old as Jaqueline?

Christopher sinh nam 1946. Con gai ciia éng dy Jaqueline sinh nam 1981. Hoi vdao nam

ndo thi woi ciia Christopher g(ilo SAU ldn tuéi ciia Jagueline?
A) 1986 B) 1987 C) 1988

D) 1989 E) None of the above (Dap 50 khdc)

12. Kirsten bought a pack of 36 M&M chips: 12 are red, 6 are yellow and 18 are brown. She
then took some M&M chips from the pack without looking. What is the least number of
M&M chips she must take to ensure she has at least 10 M&M chips of the same colour?

Kirsten mua mot goi 36 vien keo M&M g(im.‘ 12 vién do, 6 vién vang va 18 vién nau. Sau
d6 6 dy khéng nhin va ldy mét 56 vién keo M&M tir trong goi. Hoi co ay phadi ldy it nhat

bao vién keo M&M dé chic chan cé diege 10 vién keo cling mau?
A) 10 B) 19 C)25

D) 30 E) None of the above (Dap 56 khac)
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13. The following grid can be filled with exactly 4 shapes (circle, triangle, square and
pentagon) with numbers (1, 2, 3, 4) such that there is no duplicate shape and numbers in
cach row or column. What option below should be put in the place of the question mark?
Nguoi ta ).‘é:D duing 4 loai hinh (hinh tron, tam giac, hinh vuéng va hinh ngii giac) voi cac
56 (1, 2, 3, 4) sao cho trén moi hang hay moi cot khéng cé hinh ndo va sé nao Igp lai. Lia

chon nao dwdi day sé dwoc dat vao dau cham hoi?

@ | A
©,

2] ()
A)® B)A C)A
)

D)

E) None of the above (Pdp so khdc)

14. Running at the same rate, 5 identical machines can produce 5 bottles in 5 minutes, At this

rate, how many machines are needed to produce 60 bottles in 1 hour?

Neéu eung lam vigc thi 5 cai mdy giong nhau co thé lam ra 5 cai chai trong 5 phit. Voi toc

do lam viée nhwe thé, hoi can bao nhiéu mdy dé lam dwoc 60 cdi chai trong vong 1 gio?
A) 5 B) 12 C) 60

D) 120 E) None of the above (Pdp sé khdc)
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15. Mrs Fair has 36 cookies. She wants to pack them in more than one bag. What is the total

number of different ways that she can pack the cookies, so that each bag has the same
number of cookies? (Note: no cookies are packed individually)

Ba Fair ¢6 36 cdi banh. Ba muon géi ching vao nhiéu tii. Hoi ba cé bao nhiéu cach dé
lam diéu d6 sao cho méi tii chira s6 banh giong nhau? (Chii y: moi cdi tii chira nhiéu hon
mot cai banh)

A)6 B)7 )8 D)9 E) 10
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Section B (Correct answer = 4 marks; incorrect or no answer = ()

Phiin B (Tri loi dang = 4 diém; tra 16 sai hodc khong tra 1o = 0)

16.

17.

The following bar chart shows Philips’ savings, in dollars, for the months January,
February, March, April and May. Which month is equal to é of Philips’ total savings?
Biéu do hinh cgt dwéi ddy thé hién so tién tiét kiem ctia Philips, don vi do-la, cho thing
M0, thang Hai, thang Ba, thang Tu va thang Nam. Hoi thang ndo cé sé tién tiét kiém bang
% tong so tién tiét kiém ciia Philips?

(Shade one the following numbers: January: 0001; February: 0002; March: 0003; April:
0004; ...; November: 0011; December: 0012)

(To dap 56 nhir sau: Thang Mot: 0001; Thang Hai: 0002; Thang Ba: 0003; Thang Tu:
0004, ...; Thang Mwei Mgt: 0011; Thdang Muci Hai: 0012)

1800

1500

Philip's Savings (S)
[¥e] L'\:
= a8

g

300

Month

The product of 43 whole numbers is 43. What is the sum of these numbers?

Tich ciia 43 s6 tw nhién bang 43. Hoi tong ciia chiing bang bao nhiéu?

How many triangles are there in the figure on the right?

Hoi ¢o bao nhiéu tam gidc o trong hinh bén phai?
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19. Cubes are glued together to form the solid below. If the solid will be painted blue, how
many faces of cubes will be painted blue?
Céc hinh ldp phirong dwoc xép lai thanh hinh bén dwdi. Néu ta t6 phan ngodi ctia hinh

bang mau xanh thi sé o bao nhiéu mat cua cac hinh lap phwong dwoc 16 xanh?

20. Nancy and Fiona each have a fast watch. Nancy’s watch gains 3 minutes every hour.
Fiona's watch gains 4 minutes every hour. Every day, Nancy sets her watch to the correct
time at 7 am while Fiona sets her watch to the correct time at 8 am. What is the correct time
when both of their watches show the same time?

Nancy va Fiona moi nguwdi ¢é mt cdi déng ho chay nhanh. Do=ng hé ciia Nancy mai gicr
chay nhanh 3 phiit. Pong ho ciia Fiona moi gie chay nhanh 4 phuit. MGdi ngay, Nancy chinh
lai dong hé ciia ¢6 cho ding vao liic 7 gic sang va Fiona chinh lgi dong hé ciia ¢é cho
ding vdo luc 8 gio sang. Hoi khi hai d:ing ho cting chi thoi gian nhuw nhau thi thoi gian

diing la mady gio, may phiit?

(For example, if your answer is 10:25 am, write your answer as 1025)

(Vi du, néu dap s6 ciia ban la 10:25 sang thi ban viét cdu tra loi la 1025)

21. Jason, Adam, Tom and Paul are siblings. They are 4, 6, 9 and 12 years old. Jason’s age is
a multiple of 2. Adam’s age is a multiple of 3. Tom’s age is a multiple of 4. Adam is
younger than Tom. Paul is older than Adam. How old is Jason?

Jason, Adam, Tom va Paul la anh em ruor. Tuoi cua ho (khong theo dung thir tu) la 4, 6, 9
va 12. Tuéi ciia Jason chia hét cho 2. Tudi ciia Adam chia hét cho 3. Tudi ciia Tom chia
hét cho 4. Adam nhé tuéi hon Tom. Paul lom tuéi hon Adam. Hoi Jason mdy tu6i?

22. Teacher Susan has a certain amount of sweets. If she gives 5 sweets to each student, she
will be short of 11 sweets. If she gives 4 sweets to each student, she will have 2 sweets left.

How many students are there in the class?
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23.

24.

25.

(HRL

e —
iy

P . a - e A a . & . . o - £
Co Susan co mot so vién keo. Neu co cho moi hoc sinh 5 vién keo thi thiéu 11 vién keo. Neu

c6 cho moi hoc sinh 4 vién keo thi thira 2 vién keo. Hoi ¢6 bao nhiéu hoc sinh trong lop?

In the following, all the different letters stand for different digits.

Trong phép todn sau, cdc chie cdi khac nhau dai dién cho cdc ehir s6 khde nhau.

D A D
X 5
G L A D

Find the value of the 4-digit number GLAD.

Tim gid tri ciia s6 ¢6 4 chir s6 GLAD.

The operator A acts on two numbers to give the following outcomes:

Phép todn A tie dong lén hai sé va cho cdc két qud sau:

3A2=15
4A4=24
5A9=42
6A1=21

What is 2 A 7 equal to?
Hoi 2 A 7 bang bao nhiéu?

Doris and Claire had an equal amount of candies. Doris packed her candies into 6 equal
plastic bags. Claire packed her candies into 8 equal paper bags. In a gift exchange session,
Lizzy received 3 plastic bags of candies from Doris and 5 paper bags of candies from Claire.
In total, Lizzy received 27 candies. How many candies did Doris have at the beginning?

Doris va Claire cé 56 keo giong nhau. Doris géi cde vién keo ctia minh vdo 6 tii, moi nii
6 56 keo g:’:fng nhau. Claire géi cdc vién keo ciia minh vao 8 tii, moi tii cé 50 keo gfrfng
nhau. Trong mot lan doi qud, Lizzy nhan dwoc 3 tii keo cua Doris va 5 i keo cua Claire.

Tong céng Lizzy nhdn dwoe 27 vién keo. Hoi ban dau Doris co bao nhiéu vién keo?

---- The end ----
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